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= 52,184
Al 5,798
301 EtE NS 57,982 64,857 26,875
= 52,184
Al 5,798
01 Al EE A2 (2RNEXMR) 57,982 64,857 6,875
O AL NSNS 57,982,000 57,982
= 52,184
Al 5,798
HI&OHHl 2 HISSA 22 2,29 2,29
206 M=l 2,29 2,29
01 MHZH| 2,29 2,29
Oul&tidl 3FHIsSX 7L
6,050 *380ke 2,29
BASE AdES 2t 8,770 8,770
201 er23| 8,420 8,420
01 At2teltl 4,420 4,420
OdEd7E o4l M=
20,0002 64 120
OHASEHIEQEN It O|tE 28 2 &
2 1,300,000& 1,300
O=2g=+¢ 3,000
—EBAaSEHSMLE fEs 342
100,000 x102+33] 3,000
03 A= 4,000 0 4,000
O0ielol etBus 284 4,000
—SFu=F AN =E 150,000& » 132 1,950
—SZus i 7L
5,000& x25& * 132 1,625
—2Zuxs gF= ¥ 29|
425,000 425
303 Zal= 350 0 350
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A BEES
FA: JHRGHD BHE SAEE ZE(BHES
el =2 & 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 &= 350 0 350
OdEdRs L 350
—x2= 200,000 1 200
- 100,000& *1& 100
—&d 50,0002 +1& 0
S et 2l 389,421 320,220 69,201
= 162,457
[ 30,000
Al 86,215
- 110,749
SHH=E HIEAZEE 22 10,251 58,947 A\48,696
201 er23| 6,512 6,124 388
01 AtR2t2|HI 4,642 4,204 438
Odgt==d| 1,500
—SofltiE4A NEEZE S M
50,0003 *20K 1,000
—SEEAL HHAYE = LEHSH
XeldlE 500,000 *1& 500
OLnxE2 Sd= 3,800& 23]« 12& R
OsZ28AMI g s2= M=
70,0003 * 107K 700
Onl =l 750
—=& .84 gs 100,000 +5& 500
— XA 50,000& +5H 250
Oststsd N &Ac|RRS 2E+E 1,320
—&4xg 70,0003 *11H 770
— & At==g 50,000&*11H 550
O=ZilER s ASIIE BR =8
16,000, 0002 * 1% 160
OJleXgu=s ZAH 3108
60,0002 x2A1 2+ 120
02 S5=24g4l 1,520 1,520 0
OB 2EEI I KAl 800,000 800
O128 FHEL & 0ISde| s
40,0002 128 480
OstZ28=2 tHEga 2Hte N=d8de
=2 20,0002~ 128 240
03 A2 b 350 400 A50
OgUsta3ZAIA € s Jl=Xd 1
= 350
—wWFIA = 350,000 12 350
206 MH=H| 2,864 1,248 1,616
01 M=4l 2,864 1,248 1,616
Obl==AlZ MFEI| 7 2,280
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A BEES
FA: JHRGHD BHE SAEE ZE(BHES
&l AtgErd a2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—PE" (221H1) 80,0003 18 A 80
—ZMs28 (22lEH)
150,0003 132+ A 1,950
—PTFEOHN 50,0002 *5H 250
OHSE FEAD UiHl SN 2 584
FEAMHEE) 73,0003 88} A 584
301 EtE N = 875 875
14 JIEt 2 a3 875 875
OBZREMS| MDTAD
50,0002 104 500
OSditi=& A BI2tHH 25X 243
25,000 *15E 12 375
ot 2l 29,283 24,585 4,698
Al 7,500
- 21,783
201 Let=23 | 5,268 7,040 A1,772
° ZZ2H| 5,268 7,040 A1,T72
02223 2 MA 2,068
—Q0IoZFI| 0SS 23
9,000 =21CH =122 2,268
OAIZ2ZHl |XId| 3,000,000 3,000
206 M=l 2,015 2,545 2530
01 MZH| 2,015 2,545 A530
OSFHEEE)| € 225 7Y 2,015
—102I8 Z&H 840,000 840
—5clE EZEH 256,000 *3H 768
—HEEFY 87,0002 1M 87
—AHEEY 320,000& *1H 320
405 KHaHF S| 22,000 15,000 7,000
Al 7,500
- 14,500
01 ML ESFSHI 22,000 15,000 7,000
AFHNSASHFAEX 7Y
22,000,000 = 1CH 22,000
Al 7,500
- 14,500
A2 AHE SEXAE X X3 ALY 126,000 144,000 18,000
= 70,000
Al 28,000
- 28,000
402 2I2E X201 & 126,000 144,000 18,000
= 70,000
Al 28,000
- 28,000




A BEES
FA: JHRGHD BHE SAEE ZE(BHES
&l AtgErd a2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI X2 AL EE(OIETHE) 126,000 144,000 18,000
OAAZ2AIEE SXAIE EXIXE
126,000,000& 126,000
= 70,000
Al 28,000
- 28,000
OIMIZHA SHBE M - 24l 60,000 80,000 £20,000
= 30,000
Al 15,000
- 15,000
101 @124H| 47,000 68,000 A21,000
s 23,500
Al 11,750
- 11,750
M ORNZZ2NSE S 47,000 68,000 221,000
OOIMZX SHUHE HZZAl A 212k
AN 80 S X2 23,500,000 2 47,000
s 23,500
Al 11,750
- 11,750
201 Ler23 | 13,000 12,000 1,000
= 6,500
Al 3,250
- 3,250
01 AtR2te|Hl 11,500 10,000 1,500
OO0IMZX SHUHE HIZZAl A 212k
AE 28t Xtk Lo
11,500,000 = 1CH 11,500
= 5,750
Al 2,875
- 2,875
02 s3=gHl 1,500 2,000 A500
OO0IMZX SHUHE HIZZAl A 212k
ANE 28t Xeg |XH %S4l
1,500,000 1,500
= 750
Al 375
- 375
FANSSEII| EX2E NEAMSE 12,687 12,688 A
= 8,457
Al 2,115
- 2,115
402 2I2F X201 & 12,687 12,688 A
= 8,457




A BEES
FA: JHRGHD BHE SAEE ZE(BHES
&l AtgErd a2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,115
= 2115
02 DIZHAFE A2 X (01 R TH ) 12,687 12,668 AT
O+EMSSAAME 2| X
12,687,000& 12,687
= 8,457
Al 2,115
- 2,115
NASEHI HIEItA H2EX 22 X2 AHY 151,200 0 151,200
= 84,000
Al 33,600
- 33,600
402 QI2F X201 & 151,200 0 151,200
= 84,000
Al 33,600
- 33,600
02 BIINEASEX(0IETHR) 151,200 0 151,200
OJAg8IE HHEJtA M2 EX £XI]
151,200,000 151,200
= 84,000
Al 33,600
- 33,600
dEret el R,127 102,287 210,160
Al 40,000
T 52,127
SHEEZAIE 2 3,900 5,060 AT1,160
201 er23| 3,900 5,060 AT1,160
2 s5=34l 3,900 5,060 1,160
O8N e M |AHI(KRFH Z8)
2,000,000 *1CH 2,000
O3y SHTH FT2AM =8
80,0003 = 10CH 800
OstZ32E =38 dud
1,100,000 %12 1,100
HEAS & HIMEHX S 2l 4,732 5,552 A820
201 Ler=23 | 4,332 5,052 AT20
02 S3=4gl 4,332 5,052 AT20
OstEsedad ALt
290,000 * 122 3,480
Ostasaaiad AIAY QY A ZR
30,000 =20 =122 720
OUII12S (0IMER) 22l0l e AIZE
11,0002~ 123 132
301 LEtE N = 400 500 A100
14 DBt 2 a3 400 500 A100
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SN S#YPED
FA: JHRGHD BHE SAEE ZE(BHES
ool daadae EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFE ot=2 & 018 o5 =240 Bl
400,000& 400
NS HHEIA 2l 3,09 21,175 18,080
201 er=23y| 1,915 2,315 2400
01 AtR2t2|HI 715 815 A100
OXsSiAt E3d =Xl 82= MH
400,000& 400
Onl=tl 315
—ASA BHEIA HES
50,0002 +5% 250
— NS HHEIJLA B ot
13,0002445% 65
® 2=2H| 1,200 1,500 A300
OBFRE=II A
1,200,000 *14] 1,200
401 Al HIZL 201 1,180 5,000 23,820
01 Al&H| 1,180 5,000 A3,820
OS2 Mgt HAE 24 & A &1
1,180,000 1,180
OIMIZHAl 52+ XN& 80,000 70,000 10,000
Al 40,000
- 40,000
401 AIEHIZ SR HYI 80,000 70,000 10,000
Al 40,000
- 40,000
01 Al&H| 80,000 70,000 10,000
OOIMISHA M2ZAIE X
80,000,000& » 14 80,000
Al 40,000
- 40,000
Oelolgss2t & AUz 2l 400 500 A 100
201 fer= 3| 400 500 A100
01 At 2|l 400 500 A100
Oolglolgss2t & USIIE 2l
400,000 400
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